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(@) All questions are compulsory. (b)Marks are indicated against each question in square

brackets. (c) The candidate is allowed to make suitable numeric assumptions wherever required,

1. Among 50 patients admitted to a hospital, 25 are diagnosed with pneumonia, 30 with
bronchitis, and 10 with both pneumonia and bronchitis. Determine: (CO-3) [3 Marks]
(a) The number of patients diagnosed with pneumonia or bronchitis (or both).

(b) The number of patients not diagnosed with pneumonia or bronchitis.

2. Using set-theoretic laws prove the following: (:‘(;0-3)%::,;:‘%‘ [2 Marks]

A-(BC)=(AZBYU(A-C) .

3. Using the concept of mathematical indu(;:ti‘ai?l,éfsfxfpvls.f:that (CO-2) [3 Marks]
n' =2 +1, forall n >3,

4. Explain the process of cross—pqptifi‘on and show this mechanism of cross-partition for the set
of first 7 consecutive Qdd-na\‘t’qral“nilmbers. (CO-3) [2 Marks]

3. Find the validity of the fiollowmg argument using truth-table; (CO-1)
IfRoli has completéd MBA, then she is assured of a good job. If Roli is assured of a good job,

then she is happy. Roliis not happy therefore Roli has not completed MBA. [3 Marks]

6. Let D = { 1,2 ;3,4,5,6,7,8,9}. Determine the truth set or truth value (whichever is
applicable) for the following statements: (CO-1) [2 Marks]
iviy g,

"4) (Yxe D), x+y < 15.

b) @x€D),x+4=10.
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